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Introduction to Microeconomics

Economy: - An economy is a system of organizations and institutions that either
facilitate or play a role in the production and distribution of goods and services in a
society. Economies determine how resources are distributed among members of a
society; they determine the value of goods or services; and they even determine what

sorts of things can be traded or bartered for those services and goods.

Three Types of economy:

Market/capitalist economy: - In this type of Economy the factors of production are
owned and operated by individuals or group of individuals. Main objective of
production is self- interest or profit maximization. Central problems are solved by

price mechanism or market forces of demand & supply.

Planned/centrally planned/ socialistic economy: - Factors of production are owned
and operated by Govt. Main objective of production is social welfare. Central

problems are solved by central planning authority.

Mixed Economy: - The Economy in which factors of production are owned and
operated by both Govt. and private sector. Main objective is profit maximization
(private sector) and social welfare (Government sector). Central problems are solved
by central planning authority (in public sector) and price mechanism (in private

sector)

Economics: - Economics is a branch of social science focused on the production,
distribution and consumption of goods and services. The origin of economics can be
traced to Adam Smith’s book, ‘An inquiry into the Nature and Causes of Wealth of
Nature’ published in the year 1776. Economics was used to mean home management
with limited funds available in the most economical manner possible.

The word 'economics' comes from two Greek words, 'eco' meaning home and 'nomos’
meaning accounts. The subject has developed from being about how to keep the

family accounts into the wide-ranging subject of today.
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Economics is actually:-

Economics is about the study of scarcity and choice

Economics finds ways of reconciling unlimited wants with limited resources
Economics explains the problems of living in communities in terms
of the underlying resource costs and consumer benefits

Economics is about the co-ordination of activities which result from specialization

Definition of Economics: - Robbins emphasizes that economics is a study of human
behavior, where there is a relationship between ends and scarce means and that the
scarce means have alternative uses.

Samuelson’s definition of economics is most comprehensive, relevant and accepted.
The definition includes both the aspects of economics, i.e., distribution of limited
resources and problem of economic development.

Microeconomics and Macroeconomics:-

Points of
Difference Microeconomics Macroeconomics
1. [Origin The word micro has been derivedThe word macro has been derived
from a Greek word 'Mikros' whichffrom a Greek word 'Makros' which
means small. It is also called Pricemeans large. It is also called Theory
theory. of Income and Employment
2. Study It studies about individuallt studies about an economy as a

matters economic relations or issues likewhole.

households, firms, consumers, etc.

its main objective is to analyse thelit investigates principles, problems
principles, problems and policiesand policies related to achievement
for the achievement of the goal oflof full employment and expansion

3. |Objective |optimum allocation of resources. |with productive Capacity.
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4..Deals with (It deals with how consumers orllt deals with how different
producers make their decisionseconomic  sectors  such as
depending on their given budgethouseholds, industries,
and other variables. government and foreign sector

make their decisions.

5. Method |It uses the method of partiallt uses the method of general
equilibrium, i.e. equilibrium in onelequilibrium, i.e. equilibrium in all
market markets of an economy.

6. Variables [The major microeconomic variablesThe major macroeconomic
are price, individual consumer’svariables are aggregate price,
demand, wages, rent, profit,jaggregate demand, aggregate
revenues, etc. supply, inflation, unemployment,

etc.

7.[Theories |Various theories studied are: Various theories studied are:
1) Theory of Consumer’s BehaviorTheory of National Income
and Demand Theory of Money
2).Theory of Producer’s BehaviorTheory of General Price Level &
and Supply Inflation
3).Theory of Price DeterminationTheory of Employment
under Different Market Conditions [Theory of International Trade
Theory of factor pricing /Macro theory of distribution
distribution Theory of economic growth
Theory of economic welfare

8 Main lts main problems are pricellts main problem is determination

Problem |determination and allocation of  |of level of income and employment

resources in the economy

9 |Popularise |Alfred Marshal J.M. Keynes

by

Both micro and macroeconomics are complementary and should be utilized for

proper understanding of an economy
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Central Problems of an Economy:-

Basic economic problem is the problem of choice which is created by the scarcity of
resources. It is also called problem of economizing the resources, i.e., the problem of
fuller and efficient utilization of the limited resources to satisfy maximum number of
wants.

Main causes of central problems are unlimited human wants, limited economic
resources and alternative uses of resources.

Resources of factors of production can be natural like (land, air), human (i.e., labour),
capital (like machines, building) and entrepreneurial (i.e., a person who bears risk).
Central problems facing every economy are like allocation of resources:-

What to produce and how much to produce?

How to produce?

For whom to produce?

What to produce: - An economy have unlimited wants and limited means having
alternative use. Economy can’t produce all type of goods like consumer goods,
producer goods etc. So, Economy has to make a choice what type of goods and
services are to be produced and in what quantities.

How to produce: - It is the problem of choice of technique of production. There are
two techniques of production.

(a) Labour Intensive Technique: - It is the technique of production when labour is
used more than capital.

(b) Capital Intensive Technique: - In this technique capital is used more than Labour.
For whom to produce: - It is the problem related to distribution of produced goods
among the different group of the society.

It has two aspects:-

Personal distribution

Functional distribution

Personal distribution: - When the National Income is distributed according to the
ownership of the factors of production.
Functional distribution: - When the national Income/Production is distributed among

different factors of production like Land, Labour, capital and Entrepreneurship for
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providing their service in term of rent, wages, interest and profit respectively.

Problem related to the efficient use and fuller utilization of resources:-

Efficiency of production means the maximum possible amounts of goods and services
are being produced with available resources. The resources are already scare in
relation to the need for them and therefore an economy has to ensure that its
resources do not remain underutilized their under employment is nothing but
wastage of resources.

Problem related to Growth of Resources:-

It is related to increase in the production capacity of the economy so that the
guantity of production will rise.

Production possibility frontier or production possibility curve

This shows all possible combinations of two set of goods that an economy can
produce with available resources and given technology, assuming that all resources
are fully and efficiently utilized.

Production Possibility Frontier or Curve Features (a) Slopes downward from left to
right because if production of one commodity is to be increased then production of
other commodity has to be sacrificed as there is scarcity of resources.(b) Concave to
the origin because of increasing marginal opportunity cost or (MRT)

The Production possibility curve will shift under following two conditions:

(a) Change in resources, (b) Change in technology of production for both the goods.

Rightward shift of PPF shows increase in resources or improvement in technology.
Ex- Labour becoming more skilled, improvement in technology, increase in

productivity of land.

Leftward shift of PPF shows the decrease in resources or degradation of technology
in the economy.

The Production possibility curve will rotate outward under following two condition:
(a) Improvement in technology in favour of one commodity (b) Growth of resources
for the production of one commodity

Marginal Rate of Transformation (MRT) — It is the amount of one commodity that is

Www .toppersnotes.com
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to be sacrificed to increase the production of other commodity by one unit. It can
also called Marginal Opportunity Cost. It is defined as the additional cost in terms of
number of units of a good sacrificed to produce an additional unit of the other good.
MARGINAL RATE OF TRANSFORMATION: MRT is the ratio of units of one good
sacrificed to produce one more unit of other good.

(Marginal= at the border or adjacent/next to/adjoining)(Transformation= a change in
form, shape appearance or size)

Production Possibility Curve and Opportunity Cost:-

It is a useful device to graphically explain the central problems of an economy. It
indicates the various combinations of goods and services which can be produced by
full and efficient utilization of all resources of an economy.

It is downward sloping concave to the origin curve.

Slope of PPC is called MRT or Marginal Opportunity Cost. Slope of PPC is increasing
showing that if a country wants to produce more of good X it has to give up increasing
number of units of good Y it is called law of increasing marginal opportunity cost.

Any point inside the curve shows inefficient utilization of resources and any point
outside the curve is unattainable because of scarcity of resources.

Opportunity cost is the cost of alternative opportunity gives up.

Production possibility curve is called opportunity cost curve at every point measures
opportunity cost of good X in terms of good Y given up.

Production Possibility Curve and Central Problems:-

The production possibility curve solves five problems — what and how much to
produce, how to produce, and full utilization of resources, economic efficiency and
economic growth. All points on the curve solves problems of what and how much to
produce, how to produce, full employment of resources and economic efficiency.
Production possibility curve is unable to solve the economic problem ‘for whom to

produce’.

Ways to solve fundamental problems in capitalistic and planned economies:-

Www .toppersnotes.com
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In a market oriented or capitalist economy, the fundamental problems are solved by
the market mechanism. Price is influenced by the market forces of demand and
supply. These forces help us to decide what, how and for whom to produce.

In a planned economy, all the economic decisions regarding what, how and for whom
to produce are solved by the state through planning. Economic planning replaces the
price mechanism. The market is regulated by the state. The prices of the various
products are fixed by the state which are called administrated prices.

Www .toppersnotes.com
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VERY SHORT ANSWER QUESTIONS (1 Mark)

Q1. Which of the following is a statement of normative nature in economics?

a) Economics is study of choices/alternatives.

b) Government should be concerned with how to reduce unemployment

c) According to an estimate, in spite of severe shortage, more than 10% of houses in
Indian cities are lying vacant.

d) Accommodation of Refugees is posing a big problem for the Europe

Ans. (A)

Q2. Define scarcity.
Ans. Scarcity means shortage of resources in relation to their demand is called
scarcity.

Q3. A growth of resources in an economy is shown on PP by:
a) Leftward Shift

b) Unchanged PPC

c) Rightward Shift

d) None of the above

Ans. (C)

Q4. Name the three central problems of an economy.

Ans. a) What to produce? b) How to produce? c) For whom to produce?

Q5. What is meant by economizing of resources?

Ans. It means making best use of available resources.

Q6. Define Normative Economics with a suitable example.
Ans. Normative economics is the type of economics that examines the way an
economy should work under ideal circumstances. The price of milk should be Rs. 20 a

litre to give dairy farmers a higher living standard and to save the family farm.
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Q7. Give two examples each of micro and macroeconomics.
Ans. Micro economics examples are individual demand and individual supply
Macroeconomics examples are aggregate demand and aggregate supply.

Q8. What does a point inside the PPC indicate?
Ans. Any point inside the production possibility curve indicate underutilization of

resources.

Q9. Define marginal rate of transformation.
Ans. MRT is the ratio of units of one good sacrificed to produce one more unit of
other goods. MRT = Ay / Ax

Q10. What is opportunity cost?
Ans. It is the cost of next best alternative foregone.

Q11. The basic assumption regarding resources while drawing a PPC is
a) Resources are unlimited

b) Resources depend on the kind of goods produced

c) Resources can be put to a particular use

d) Resources are constant and given

Ans. (d)

Q12. What is the other name for opportunity cost in economics?
a) Economic problem

b) Marginal cost

c) Total Cost

d) Economic cost

Ans. (a)

Q13. In a centrally planned economy, the central problems are solved by
a) Supply of goods
b) Demand for goods

c) Market mechanism
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d) Planning authority
Ans. (d)

Q14. In a market economy, the central problems are solved by
a) Demand for goods

b) Supply of goods

c) Planning authority

d) Market mechanism

Ans. (d)

Q15. The study of jute industry is a macroeconomic study. This statement is
a) Conditional

b) True

c) Can’tsay

d) False

Ans. (d)

Www .toppersnotes.com
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SHORT ANSWER QUESTIONS (3 / 4 Marks)

Q16. Does massive unemployment shift the PPC to the left?
Ans. Massive unemployment will shift the PPC to the left because labour force
remains underutilized. The economy will produce inside the PPC indicating

underutilization of resources.

Q17. From the following PP schedule calculate MRT of good x.

Production possibilities A B C D E
Production of good x units 0 1 2 3 4
Production of good y units 14 13 11 8 4
Ans.

Production of Production of good MRT = Ay / Ax
good X units Y units

0 14 _

1 13 1:1

2 11 2:1

3 3 3:1

4 4 4:1

Www .toppersnotes.com
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Q18. What does the problem for whom to produce refer to?

Ans. This is essentially the problem of distribution of income between the different
groups of the society. This problem has limited resources. Because of scarcity, city of
resources, producers are unable to produce everything in desired quantity. But they
will have to make a choice as to which one is important as a whole, so that limited

resources can be rationally managed.

Q19. What is opportunity cost? Explain with the help of a numerical example.

Ans. Opportunity cost represents the benefits an individual, investor or business
misses out on when choosing one alternative over another. In microeconomic theory,
the opportunity cost, also known as alternative cost, is the value (not a benefit) of
the choice in terms of the best alternative while making a decision.

For example, Johnson has three job offers to select from. Job A has salary of Rs.
60000, Job B with Rs. 70000 and Job C with Rs. 80000. If Johnson chose Job C, then in
this case opportunity cost would be Rs. 70000 per month.

Q20. Why is a Production Possibility Curve (PPC) concave? Explain.

Ans. Production possibility curve is concave to the origin because marginal
opportunity cost of the shifting resources from commodity B to commodity A tends
to rise. Marginal opportunity cost tends to rise because the factors of production are
not perfect substitute to each other. So when one factor is shifted from the
production of one good to another, then its productivity falls, thus causing marginal
opportunity cost to rise.

Www .toppersnotes.com
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LONG ANSWER QUESTIONS (6 Marks)

Q21. What is production possibility frontier?

Ans. It is a boundary line which shows that maximum combination of two goods
which can be produced with the help of given resources and technology at a given
period of time.

Diagram 1: An economy's production possiblity frontier
Product X

){1 ------------

Ko e o o o o ——

0 V1 V2 Product ¥

Let’s take an example here. An economy can produce two goods like rice and ghee by
using all the given resources. The different combination of rice and ghee are as

follows:-

Production Possibilities Rice (quintals) Qil (litres)
A 0 10

B 1 9

C 2 7

D 3 4

E 4 0

Www .toppersnotes.com
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Q22. Draw a production possibility curve and mark the following situations.

Underutilization of resources
Full employment of resources

Growth of resources
Ans. Every point on PP curve like ABCDEF indicates full employment and efficient

uses of resources. Any point below or inside PP curve like G underutilization of
resources. Any point above PP curves like H indicates growth of resources.

14

12 | A -
3B ~~H (Growth of resources)
10 T C
3 /,, Full emplovment of resources
) D _~
] - <
4 | Under utilization E
of resources |
2 _ ' x
» X
0 1 2 3 4 5 Cloth

Wheat

Production possibility curve and opportunity cost:-
It refers to a curve which shows the various production possibilities that can be
produced with given resources and technology.

Production Possibilities

Production | Commodity | Commodity | Marginal opportunity
Possibility A B cost of commodity A

A ] 15 -

B 1 14 15-14=1

C 2 12 14-12=2

D 3 09 12-9=3

E 4 03 9-5=4

F 5 1] 5-0=5
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Commodity A

If the economy devotes all its resources to the production of commodity B, it can
produce 15 units but then the production of commodity A will be 0. There can be a
number of production possibilities of commodity A & B.

If we want to produce more commodity B, we have to reduce the output of

commodity A & vice versa.

Shape of PP curve and marginal opportunity cost:-

PP curve is a downward sloping curve - In a full employment economy, more of one
goods can be obtained only by giving up the production of other goods. It is not
possible to increase the production of both of them with the available resources.
The shape of the PP curve is concave to the origin — The opportunity cost for a
commodity is the amount of other commodity that has been foregone in order to

produce the first.

The marginal opportunity cost of a particular good along the PPC is defined as the
amount sacrificed of the other good per unit increase in the production of the good

in question.

For example: suppose a physiotherapist having a private clinic in Mumbai is earning 7

lakhs annually. There are two other alternatives for her.

Joining a government run hospital in Hyderabad earning Rs. 6 lakhs annually.

Opening a clinic in her home town in Nagpur and earning 4 lakhs annually.
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